

02/10/2020

Page 1 of 1

**Vendor Ranking** 

Contract: E4U50-R0

Letting: 04200207 February 07, 2020 10:30 AM Call Order: 006

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Project(s): 44100737201 (\*) Contract Time: 365 CALENDAR DAYS

Contract Desc: TREASURE COAST SIGN REPAIR AND INSTALLATION - MAINTENANCE

Ra	ank Vendor	Bid Type Bid Status	Total Bid Percent Of Low Bid
1	AIRBOAT ADDICTS, INC.	Responsive Winning bid	\$56,577.00

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: **BEGIN DATE:** 02/25/20 **BEGIN TIME:** 10:30 AM

> **END DATE:** 02/28/20 **END TIME:** 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the budget amount of \$25,000.00 and not the contractors bid. There is no guarantee of minimum or maximum amount to be issued under this contract.



02/10/2020

#### **Tabulation of Bids**

**Letting:** 04200207 February 07, 2020 **Call Order:** 006 **Contract:** E4U50-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44100737201 (\*)

Contract Descr: TREASURE COAST SIGN REPAIR AND INSTALLATION - MAINTENANCE

The work under this Contract consists of labor, equipment, materials and incidentals necessary to furnish, install, repair, and remove multi-post signs along the State Roadways in St. Lucie, Martin and Indian River Counties.

MAXIMUM LIMITING CONTRACT: The award amount and the contract performance bond shall be based on the maximum limiting budgeted amount of \$25,000.00 and not the Contractor's bid total. There is no guarantee of minimum or maximum amount to be issued under this contract.

PERFORMANCE BOND: A Contract / Performance bond is NOT required for this project.

RENEWAL: This contract has a renewal option. This Contract will have 2 renewal periods of 12 months each.

BUSINESS DEVELOPMENT INITIATIVE - Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department.

The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150.000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

A Contract Bond is not required for contracts \$250,000.00 and less.

Page 1 of 6





# **Tabulation of Bids**

Page 2 of 6

Letting:	042	200207	February 07, 2	020 <b>Ca</b> l	l Order: 006		Contract:	E4U50-R0	
Line No /		Alternate	Quantity Units	(1) AIRBOAT A	DDICTS, INC.				
	-	as Lump Sum	O.III.O	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION:	0001	SIGNS(GRND	SIGNS 30 SQ FT C	R LESS)(UN)				
0005 0700 SINGLE POS MOUNT, UP		&I GROUND	1.000 AS	575.00000	575.00				
0010 0700 SINGLE POS MOUNT, 12-2		&I GROUND	1.000 AS	1,250.00000	1,250.00				
0015 0700 SINGLE POS MOUNT, 21-3		&I GROUND	1.000 AS	1,495.00000	1,495.00				
0020 0700 SINGLE POS	0 1 40 ST SIGN, IN	NSTALL	2.000 AS	1,495.00000	2,990.00				
0025 0700 SINGLE POS	0 1 50 ST SIGN, R	RELOCATE	2.000 AS	310.00000	620.00				
0030 0700 SINGLE POS	0 1 60 ST SIGN, R	REMOVE	5.000 AS	140.00000	700.00				
0035 0700 MULTI- POST MOUNT, 21-		&I GROUND	1.000 AS	5,000.00000	5,000.00				
0040 0700 MULTI- POST MOUNT, 31-		&I GROUND	1.000 AS	6,000.00000	6,000.00				
0045 0700 MULTI- POST MOUNT, 51-		&I GROUND	1.000 AS	7,400.00000	7,400.00				





# **Tabulation of Bids**

Page 3 of 6

Letting	<b>g</b> : 04	1200207 F	ebruary 07, 20	020 <b>Ca</b>	II Order: 006		Contract:	E4U50-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) AIRBOAT A	ADDICTS, INC.				
() inc	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SIGNS(GRND S	SIGNS 30 SQ FT (	OR LESS)(UN)				
0050 MULTI- RELOC		ROUND MOUI	2.000 NT, AS	4,200.00000	8,400.00				
0055 MULTI-	0700 2 60 POST SIGN, R	REMOVE	1.000 AS	400.00000	400.00				
	0700 3101 ANEL, FURNIS ID MOUNT, UF		1.000 EA	350.00000	350.00				
	0700 3102 ANEL, FURNIS ID MOUNT, 12		1.000 EA	325.00000	325.00				
	0700 3103 ANEL, FURNIS ID MOUNT, 21		1.000 EA	495.00000	495.00				
	0700 3104 ANEL, FURNIS ID MOUNT, 31		1.000 EA	495.00000	495.00				
	0700 3105 ANEL, FURNIS ID MOUNT, 51		1.000 EA	2,950.00000	2,950.00				
0085 SIGN PA	0700 3401 ANEL, INSTAL	L, UP TO 12 SF	2.000 EA	395.00000	790.00				
0090 SIGN P	0700 3402 ANEL, INSTAL	L, 12-20 SF	1.000 EA	345.00000	345.00				





# **Tabulation of Bids**

Page 4 of 6

Letting:	04200207	February 07, 2	020 <b>Ca</b> l	Il Order: 006		Contract:	E4U50-R0	
Line No		ate Quantity Units	(1) AIRBOAT A	ADDICTS, INC.				
() indicate	es item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	SIGNS(GRND	SIGNS 30 SQ FT C	OR LESS)(UN)		1		
	00 3403 L, INSTALL, 21-30 SF	1.000 EA	395.00000	395.00				
	00 3404 L, INSTALL, 31-50 SF	1.000 EA	590.00000	590.00				
	00 3405 L, INSTALL, 51-100 SF	1.000 EA	1,395.00000	1,395.00				
	00 3406 L, INSTALL, 101-200 S	1.000 F EA	2,490.00000	2,490.00				
	00 3601 L, REMOVE, UP TO 12	5.000 2 SF EA	298.00000	1,490.00				
	00 3602 L, REMOVE, 12-20 SF	2.000 EA	350.00000	700.00				
	00 3603 L, REMOVE, 21-30 SF	2.000 EA	395.00000	790.00				
	00 3604 L, REMOVE, 31-50 SF	2.000 EA	449.00000	898.00				
	00 3605 L, REMOVE, 51-100 SI	1.000 F EA	499.00000	499.00				





# **Tabulation of Bids**

Page 5 of 6

Letting:	04200207 F	ebruary 07, 2	020 <b>Cal</b>	l Order: 006		Contract:	E4U50-R0	
Line No / Ite		Quantity Units	(1) AIRBOAT A	DDICTS, INC.				
() indicates it	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	SIGNS(GRND S	SIGNS 30 SQ FT C	R LESS)(UN)				
0140 E700 SIGN PANEL C	30 1 OVERLAY, SINGLE PO	15.000 ST SF	150.00000	2,250.00				
0145 E700 SIGN PANEL C	30 2 VERLAY, MULTI POS	15.000 T SF	150.00000	2,250.00				
0150 E700 SIGN PANEL C	30 3 OVERLAY, OVERHEAD	15.000 SF	150.00000	2,250.00				
	S(GRND SIGNS 30 Se FT OR LESS)(UN)	ction Totals:		\$56,577.00 <sup>°</sup>		·		
	Contract Gra	and Totals:		\$56,577.00				



02/10/2020

#### **Tabulation of Bids**

Page 6 of 6

E4U50-R0

**Letting:** 04200207 February 07, 2020 **Call Order:** 006 **Contract:** 

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.